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Hayath Star   hayath   d                                           02-14-2007

Pressure discharge Cement

20 m vertical – pipeline 4”
Convey length  = 27    m       Nu of bends= 3   Pump vol =   .13  +  .13   m^3/s

q-convey       = 0.13  m^3/s   Dia begin  = 95   mm      Dia end  = 95   mm

                                            Pipevolume   = .19      m^3

       Pipeline

Press. Cap.  mu                               v-begin  v-end  kWh/ton  res.time

2.000    56  94              Silo calc.         8.2     22.6    0.41       2.72

1.750    52  86              Silo calc.         8.8     22.5    0.40       2.60

1.500    47  78              Silo calc.         9.6     22.4    0.39       2.46

1.250    41  69              Silo calc.        10.5     22.3    0.39       2.30

1.000    35  59              Silo calc.        11.7     22.1    0.38       2.15

0.750    29  48              Silo calc.        13.3     22.0    0.39       1.98

0.500    21  35              Silo calc.        15.3     21.9    0.43       1.80

Empty pipeline pressure ...=  540           mmWC     Print-out table ? y/<n>

For other settings: recalculate from Menu
Hayath Star   hayath   d                                           02-14-2007

Pressure discharge Cement

32 meter vertical – pipeline 4”
Convey length  = 39    m       Nu of bends= 3   Pump vol =   .13  +  .13   m^3/s

q-convey       = 0.13  m^3/s   Dia begin  = 95   mm      Dia end  = 95   mm

                                            Pipevolume   = .27      m^3

       Pipeline

Press. Cap.  mu                               v-begin  v-end  kWh/ton  res.time

2.000    43  72              Silo calc.         8.0     22.4    0.54       3.92

1.750    40  67              Silo calc.         8.6     22.3    0.52       3.72

1.500    36  61              Silo calc.         9.4     22.2    0.51       3.51

1.250    32  54              Silo calc.        10.3     22.1    0.50       3.29

1.000    28  46              Silo calc.        11.5     22.0    0.49       3.05

0.750    22  37              Silo calc.        13.1     21.9    0.50       2.82

0.500    16  26              Silo calc.        15.1     21.8    0.56       2.56

Empty pipeline pressure ...=  754.1         mmWC     Print-out table ? y/<n>

For other settings: recalculate from Menu

Hayath Star   hayath   d                                           02-14-2007

Pressure discharge Cement

32m vertical pipeline 4”
booster after 20m vertical 0.1333 m3/sec

Convey length  = 39    m       Nu of bends= 3   Pump vol =   .13  +  .13   m^3/s

q-convey       = 0.27  m^3/s   Dia begin  = 95   mm      Dia end  = 95   mm

                                            Pipevolume   = .27      m^3

       Pipeline

Press. Cap.  mu                               v-begin  v-end  kWh/ton  res.time

2.000    38  32              Silo calc.         7.9     42.9    1.17       3.40

1.750    35  29              Silo calc.         8.5     42.7    1.14       3.21

1.500    32  27              Silo calc.         9.3     42.5    1.11       2.98

1.250    28  23              Silo calc.        10.2     42.4    1.10       2.78

1.000    24  20              Silo calc.        11.4     42.2    1.11       2.55

0.750    19  16              Silo calc.        13.0     42.0    1.17       2.32

Empty pipeline pressure ...=  908.2         mmWC     Print-out table ? y/<n>

For other settings: recalculate from Menu
Hayath Star   hayath   d                                           02-14-2007

Pressure discharge Cement

20m vertical pipeline 4” - 12m vertical pipeline 6”
booster after 20m vertical 0.1333 m3/sec

Convey length  = 39    m       Nu of bends= 3   Pump vol =   .13  +  .13   m^3/s

q-convey       = 0.27  m^3/s   Dia begin  = 95   mm      Dia end  = 149  mm

                                            Pipevolume   = .47      m^3

       Pipeline

Press. Cap.  mu                               v-begin  v-end  kWh/ton  res.time

2.000    59  49              Silo calc.         8.2     17.8    0.75       3.66

1.750    54  45              Silo calc.         8.9     17.7    0.74       3.53

1.500    49  41              Silo calc.         9.6     17.6    0.72       3.38

1.250    43  36              Silo calc.        10.6     17.5    0.71       3.23

1.000    37  31              Silo calc.        11.8     17.5    0.71       3.07

0.750    30  25              Silo calc.        13.3     17.4    0.72       2.87

0.500    22  18              Silo calc.        15.3     17.3    0.80       2.70

Empty pipeline pressure ...=  512.2         mmWC     Print-out table ? y/<n>

For other settings: recalculate from Menu

Hayath Star   hayath   d                                           02-14-2007

Pressure discharge Cement

compressor 0.2 m3/sec = 12 m3/min – 6” pipeline

32m vertical

Convey length  = 39    m       Nu of bends= 3   Pump vol =   .2   +  .2    m^3/s

q-convey       = 0.20  m^3/s   Dia begin  = 149  mm      Dia end  = 149  mm

                                            Pipevolume   = .68      m^3

       Pipeline

Press. Cap.  mu                               v-begin  v-end  kWh/ton  res.time

2.000    88  98              Silo calc.         5.7     13.8    0.40       6.26

1.750    81  90              Silo calc.         6.0     13.7    0.38       6.02

1.500    74  82              Silo calc.         6.2     13.6    0.37       5.74

1.250    66  73              Silo calc.         6.6     13.6    0.36       5.46

1.000    57  63              Silo calc.         7.0     13.5    0.36       5.15

0.750    46  52              Silo calc.         7.9     13.4    0.36       4.79

0.500    34  38              Silo calc.         9.1     13.3    0.39       4.42

Empty pipeline pressure ...=  199.8         mmWC     Print-out table ? y/<n>

For other settings: recalculate from Menu

Dear Mr Hayath Star,

Please note this summary of the various calculations of your bulktruck cement conveying system.

In the attachment you will find the capacity/pressure tables.

Summary:

pipeline 20 m vertical – 4”

compressor 0.1333 m3/sec (8 m3/min)

capacity 56 tons hr – 2 bar

pipeline 32 m vertical – 4”

compressor 0.1333 m3/sec (8 m3/min)

capacity 43 tons hr – 2 bar

pipeline 32 m vertical – 4”

compressor 0.1333 m3/sec (8 m3/min)

booster 0.1333 m3/sec after 20m vertical

capacity 38 tons hr – 2 bar

pipeline 20 m vertical – 4” and 12m vertical 6”

compressor 0.1333 m3/sec (8 m3/min)

booster 0.1333 m3/sec after 20m vertical

capacity 59 tons hr – 2 bar

pipeline 32 m vertical – 6”

compressor 0.2 m3/sec (12 m3/min)

capacity 88 tons hr – 2 bar

If further information is needed, we will hear from you.

success

teus

